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11111111111 IHI 1111111 
PART-III 

~rrru11~w6\l / BOT ANY 
( ~u51W LD!f)WJtb ~lfil~Q) 6t.l~ / Tamil & English Version) 

c$ITQ) : 3.oo LO~ a1fillLD 1 
Time Allowed : 3.00 Hours ] 

[ Gt.0rr~~ LO~uGu6m"c!nGTT : 70 
[_Maximum.Marks: 70 

~~6'l.t6'5>1f56ll : (1) ~~6'01~~ 61S16'011Tc$c$~LD a:rfllUITc$ U~QJIT~ LGTTGTT~IT 6r~U~~6'0T a:rf1UITIT~~c$ 
Gc!nrrGTTGTT~LD. ~66rLJU~61S1GU. ®~rouS1@ut51~ ~~!D c$6m"c$IT~LJUIT6IT!f)LLD 
LL6'0T~lUITc$ Q~rfl61S)8ic$~L.O. • 

• (2) ~6\)U) ~Q)Q)~ 6>®u4 ~LOuS1~6'0T LOL@al.O 6f@~ru~!b®ili 
~~8iac!nrr~@6t.l~!f)(§LD UlU~U@~~ a6t.16m"@L.O. ULffiJc$GTT QJ~l}"QJ~!I)® 
Qu~MGU UlU~u@~~~tb. , 

1 Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness, 
inform the Hall Supervisor immediately. 

®~u4 : 

Note: 

(i) 

(ii) 

, 
(2) Use Blue or Black ink to write and underline and .pencil to draw diagrams. 

LI®~ - I/PART- I 

15x1='15 

Gc!n rr@8ic!n LJ u L@ww !f>rT6lJT® LO rr!i) WJ 61S1 Lc!nm1 GU L.6) c$~ Lb iJ-!b LlU 

61S1~L~lU~ a~rq.bG~@~~c$ ®JDltnL...@L~ 61S1~LuS1Gm6'0T~L.0-- ~a:rr~~ 
6f@~~LO ..• 

(i) Answer all the questions. 

(ii) Choose the most appropriate answer from the given four alternatives and write 
the option code and the corresponding answer. 

[ ~®LJ~c$ / Tum over 
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7632 2 

1. £l91i;ffirr6mu~GUs;61flQ) 61"/bP:, U@i~ urrli;ie.ifhu QlfQ.lrolJD@ ~L(~hb u6fu~u %®$\OJ~ 7 

( ~) ~mrr~LOrr HQJ~ ( ~) Qs:6b Brrurr 

(@) ~~6fTB;aB;rraa;QSls;~ ( r-r-) iL~Bi® 6QJQj 

Which of the following components provides sticky character to the bacterial cell ? 
(a) Plasma membrane (b) Cell wall 
(c) Glycocalyx ( d) Nuclear membrane 

2. 6l..lJD6m"L ~Q)~ ~rrQJl}"LOrrQT ~UQTQ~hurr6l516b 6rQJQJ~c$ ~l}"rr6l51u aurrBi@j a:rr~~UJLD ? 

( ~) Q~6mITt.q-Ga:6b ( ~) s;~Lt.q-~m 

(@) @~Q)~~~m ( r-r-) at.0,tb8in.!}51UJ ~~QT~~LD 
What type of transpiration is possible in t};le Xerophyte Opuntia ? 
(a) Lenticular (b) Cuticular 
(c) Stomata! (d) All the above 

. . 
3. Qu15~LD ll)!!)IDJLD ~-&)a;s;rr QJ~c$LJUtr@ e!PQ)LD @j(b)LDUffiJ856TT GlS1rurf1s;a;u-

UL@m6fT6"0T ? 

(~)- 202 (~) 204 (@) 102 (r-r-) 212 
. . 

How many families were described by Bentham fllld Hooker classification ? . 
(a) 202 (b) 204 (c) 102 • . (d) 2·12 

4. . ~~6fT8;85rf~Q)51·~ LD.(DWJLD $ll}"u~ arww51~~~ @~6lfflTB>@>I.D. as:rrLOt.b : 

(~) ~51L~L6U CoA -. (~) a=~i)~s; ~uSlrut.b 

(@) §1c__rf1a; ~uSlrut.b (r-r-) ~L:J®GlSls; ~uSlQ)t.b 

The compound -\Yhich links glycolysis and Krebs Cycle is : 
(a) Ac~tyl CoA (b) Suqc~c acid • 
(c) Citric acid (d) PyJ.:Uvic acid : 

5. ~a=L a LrT @j a IJrTI.D ~s;GnSl a L<orol 6U_ 85 rr6lfflTLJ u@ 856!ITh.o LD : 

( ~) ~~~Jnrra;t.b ( ~,) @®t.b~ (@) ~rruSll}"t.b 
Cytochrome oxidase contains ____ mineral. 
(a) Zinc (b) Iron . (c) Copper (d) Magnesium 
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< ) G Q) u a LrrL.Je.m 

(@) Q>68>a8>rrta.~ 

• • ( ~) iq_uawrrLte.6m 

(FF) LI JT 8>~ Le.6m 
In meiosis crossing over is initiated at: 
(a) Leptotene (b) Diplote1:1-e 
(c) Zygotene . (d), Pachytene 

7. urrwaurrr-r-mrrru 6!PU(!9aQJL... .@~6h"r6!PLO CO2 ~J!)~UJfTS> Gs:UJQ)U@QJ§J : 

8. 

( ~) C2 ~JTQJl]"ffiJS>GTT . : _( ~) ~3 ~JTQJ_l}T6J8>GTT 

(@) C3 LDJDWJLO C4 ~rrrulJIBJS>m ( r:r-) c4 ~rrrul}"IBJS>m 
Phosphoenol pyiuvate is the primary CO2 acceptor in :_ :. :-... -. 

(a) C2 plants (b) C~ plants 
(c) ·and C4 plants .. (~) C4 plants 

@jQJrr~Las:rrLO ----@6b S>JT~UU@~!D~· . I 

( ~) aS>rrruQ>S> _~L.Q)IBJS>ro f ( ~) ~)LO L. a LJT 8> rr~nt}_ifhi.J rr 

(@). 6r~Lrr~wrrs: 6l.J6!PQ) 
\ . . 

( FF ) • '7-16r r6J 8; 6lrnfl 8, Lb . ' _.. .. • 
A quantasome is present in ___ _ 

(a) Golgi bodies 

( C) Endoplasmic reticulum 

(b). . - Mitochondria 

(d) (:hloroplast 

.-

9. ~6!PIJaUJrro0o~6UQ)L.D, LUJ~aB>rrif1UJrr 6f6bTU~QJ Gf~J!)@j Gr@~~S>S>JTL@ ? ·_ 

( ~) ~oo@ GLOrrL...(b\, @6lStl GLOrr~® ... 

( ~) @Q>Q) GLDrrL@, @61rrl GLDrrL@ 

(@) GLOrrL@, @~Q) GLDrrL@· 

( r:r-) @6IDQ) QLOrrL...(6\, ~oo@. QLbtn.:~G)' 

t I t 

• I 
J 

.. ..: J 
I 

Bryophyllum and Dioscorea are examples for ; . 
(a) Cauline bud, apical bud J ' ·' • ,· • ·' • _·,.~ ~.;,. '·:· ,--:-,, --~ :-. ·,. • 

(b) Foliar bud, apical bud 
( c) Cauline bud, foliar bud 
( d) Foliar bud, cauline bud 

ll:Jfj 

[ ~®LJ~S> / Tum _over 
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flf!fl. 4 

10. Q.JITL66lST LDti}WJLO .$)rf)a,$)~ @l)L6f>L Br@m DNA LDrr~rf) ---- 6lJ~8:jlLJ(T6nl~. 

(~) H (~) A (@) B (r-r-) C 
Watson and Crick model of DNA double helix is ____ form. 
(a) H (b) A (c) B 

11. ~ITB=QU 6f6lSTU~ ~® QJ6l5)6,;lLJ(T6nl : 

( ) 61 !D LI y ru 6f)6,; LD (§B=rf1 

(@) 6m6al.DrrOO LD(§B=rf1 
Thyrsu.s is a type of : 
(a) Special inflorescence 

( ~) 6,;Q)LIY Q.J~e:; LD(§B=tfl 

(FF) fl 61aL.DrrQU LD(§6rf1 

(b) Mixed inflorescence 

(d) C 

( c) Cymose inflorescence ( d) Racemose inflorescence 

12. @® u a;e:; ~@ffiJ ~6m LD fe~ 6lJ rrQU (§Q) e:; ti) 6"6'> !D e:; rr ~LI u ® 6lJ ·: 

( ~) lt}-1)616tffrr ( ~) (§8>8:ilT~LaL61 

(@) lY>B>d>IT (FF) 6'51Q)6\SlalLJ61 
Bicollateral vascular bundles are pr~sent in : 
(a) Dracaena (b) 
(c) Yucca (d) 

Cucurbitaceae 
Liliaceae 

13. ~6lST6lJ@6lJm6Uti}WJm • Gp:,®ili Ud;Q) ~ITQJl)r6J8>6l5)m a~irfeG~@8>8>~1.0 : 
( ~) ~@Q)m, ~B>d>ITffil, UC!!)~~ 

(~)·UL.LIT~. urrir6'51, ~LQU 

(@) ~LQU, d>IT8>6'51UIT, airrraLrrGL~LIJ"IT6lST 
( r-r-) YQ)8>~6l5)Q), Qp;Q), aa:rrlLJrrQ l.DIT8=6l5)6 
Select long day plants from the following : 
(a) Potato, Tomato, Cotton 
(b) Pea, Barley, Oats 
(c) Oats, Cocklebur, Rhododendron 
(d) . Tobacco, Rice; Soyabean 

14. alJ"rraLITo0o~Ugl-6irr aa:uSluy. Qurr@6TT .: 

( ~) yamrrrfllt}-UJ6lST ~IJ"B=LO ( ~) UITIJ"IT~L.06\)[T6lST 

C@) L.Drr6nfl LLrr~ (FF) 6Urru5l6mrrrfl6irr 
The reserve f oo~ of Rhodophyceae is : 
(a) Floridean starch (b) Paramylon 
(c) Mannitol . (d) Laminarin 

_j 
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15. 

5 

(!:P~ITJ!>~ ~Gm°~QT ~U)UJLJ Li@j~t6lru @JJ(MfLrnb ~~Q) 

8i~6m"LnrT6m ~~U)LJ~Ud> QB,rT6fflITL f,rr BiL~~rrLJ U®~ : 

(~) BiL~L (~)~Q)Uff6ml.D 

lii!fJ 
. . . 

Q>6Q)L.D~6m~ ~Lrf LD!!)IDJLD 

Inner, darker & harder portion of secondary Xylem that cannot conduct wate~ in an older 
dicot stem is called : 

(a) Wood 

(c) Duramen 

(b) Alburnum 

(d) Bast 

LI(!>~ - II/ PART - II 

®t6lu4 : 6T~6l.lC:Wt!l]LO 6nl6mrrd>8i~d5@) L.DL@LD ~6IDLUJ6lfl8'8i6tjl.D. 6lS16mrr 6f00 24-B>® 

8iL...LITWlDITc$ 6nl~LUJ6lfl858i6tjLD. 6x2=12 

Note: Answer any six questions. Question No. 24 is Compuls~ry. 

16. ~Gnll ~~8,8,U) .6f6b'T!!)rTQ> 6f6bl6m ? 

What is apical dominance? 

17. JDrT60l@j (@j~8,UJrT6m ~Giua8'rr8'6nll~@LJ~60T GuUJIT8,6IDGTT 6r@~8,. 

Name the four types of Ascocarps. 

18. 6rJB~ UQ!)<@J~~Q) ~(¤9.ilaUJrrGiuGuri-LD ~rT(@JfJffi18i6lflru QQJ6Q)8,6TT Qurfl~rr8, @®8l@>LD ? 

~60T? 

In which season the vessels of Angiosperms are larger in size, why? 

19. !bh8' !bh ru 6f 6bT!!) rr ru 6f 6bT 6m ? 

What is Nucule ? 

20. ~rf6l.lJJLD A 6rTL.6IDL (@jrfQ) aJDrrW, ~rT<@JIJL.0 B 61.(DpS}~Q) aJnrrW ~!]5l@>n.518'ro G8'rroo@Gi"rGTT~. 

A, B -u.516br Bi6nllL.D8'. @)~!!)UrTL.li}-~6m8i 8'~Lp5}8'. 

Plant A shows Whiptail disease, plant B shows a Little Leaf disease. Identify mineral deficiency 
of plarit A and B. 

[ ~®LI Lj8' / Turn over 

ti 
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7632 6 

21. Qs:rrQ>rraQTg1 ®@iliu~~QT ~rT6Ul}"riJs;m c@IJQUTlq-Qf .i@Ga=rrd> GuUJrrs;Q>m 
6r(!:g~Bi, • I • 

Write two Binomial names of food plants in. Solanac~ae family . 

22. BTQJ(Tg)~~rolm ~L@QLOrr~~ ~Bib96gla;s;rrGm 6L06UTUrTL...Q>L 6r@~Bi. 
Write the· equation of overall process of Respiration. 

23. iifttuGU :®!D~~a; BiL@uu@~~.i.o Bin.WJBim UJrra>GtJ ? 
What are the parameters w~ich control water potential? 

24. 6~LJL.t ~Q)~ ~rTQJl}"ffiJBim 6TQJQJrTW) BrQJrrgls;£l6m'!I)6GT ? • 
How do mangrove plants respire ? 

. - LI®j - III/ PART - III 
.. 

.- . 
' 

j 

6Tm6l.laWel)ln ~!l,)J GlSlmrrd>Bi(.§8>® LDL@LO ~6IDLUJGTT18>Bi~l.O. 
33 -6.>® B:,L.Ltt~ LOIT 6> 6lSl 6~)LUJ mlB>di~ LO. 

6lSl 6lSHT 6r 6m" 
. . . _.__ . 6x3=l8 . 

. / . 
Note: Answer any six ·questions. Question No. 33 IS Compulsory. 

2S. QJGTTIT65l QJQ>GTTtuffiJB>Q>GTTLJ u!i)!Dl utq.uu~6m' QPB>$1UJ~~QJ~6ID~ 6r@~di .. 

27. 

Write the importance of studying growth rings. _-. . • . 1 • , • : 

, • r 

How root climbers differ from stem climbers·? 
• ' . ' 

UBrr&J8;~a;~:®6m ~Ql)LDLJ6IDU ULLO ~6IDIJ"P,~ urr~~a;~roa; ~r6la;a;Gl.lili.. . . 
Draw and label the parts of stru~ture of chloropla~t. 

• • •• r' ' I •' • 
,S,. • i • • • : • •, • < \ • I• 1 , o O ,• '"' o \ • O \ 

28. ~1}"6 51T8i8>Q)I}" @Q)L~rr!D!DBi Q~rrGTTQ)B;~~ U!f~UrriftaQ)Q\) Gp;rr:t) ~QJQJrT!!)I. @~Q)~ 
~~Gff~Q)QT~ :®!DB>$l!D~ ? ' . '•.. • "·' .,· ... :· • ,• .• . ,., . 

29. 

• ..., ·t' ,. I j • 
0 

I -~ • I • I • • - ,! ) -., .. : .' • r " I { • - •: I • \ 
1 

' • , I "J , J • 

How does phosphorylase enzyme open the ·stomata in starch sugar interconversion ·theory ? 
I J • / - \ . 

u rra;ie.rfl UJ rrru (TQ) U)~~~d>® ~GWLrT@jLO ap;rrUJa;Gh
1

• Lb e!P.~!&Q)m 6r@:®' 
6)J !D !6) 6br a JD rrli.Ja; a;rrl}" Qfffla;mwll-1 Lb 6r@~Bl. 

., 

Name any 3 human diseases caused by bacteria and their pathogeris. 

t . ,. . 
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7 14:FfJ 
30. BrGl.Hf 6 r=F Gtt 6r 6lIT!I)rf Q) 6f 6lIT ? a; rfl LO u51 Q)~~ 6lIT ( LO rrG\S1 e; uSl GU~~ 6ITT) 8?6).J rr 6 r-r-Q.j U)~ LI Lt 

UJrr~ ? 

What is Respiratory Quotient ? What is the RQ value of organic acid (Malle acid) ? 

31. ~rr6).JiyGnlwG016irrut.q- a;L...6l5)L 6f6lITU~ 6l"6lIT~ ? , 

What is wood botanically ? 

3 2. @®Gir Gn16l5)~u51 G?IT e!J)G?ITWJ 6l5)@a;ro UJ rf 6l5)6).J ? 
What are the three phases of Dark reaction? 

33. 6l5)6).Jirw6irr ~u51@roro umLta;Gir GJ"a~®JLO (Y)G?IT!)516l5)~ 6TQ:Q~85. 

Write -any three living characters of viruses. 

LI@)~ - IV/ PART - IV 

Note: Answer all the questions. 

. 
~6\)6\)~ 

5x5=25 

( ~) LO rr rr a; rr Gm~ w rr Gn1 Gm Gn1 rr 6l..l lJ" 6irr 6l5) ill u 6ln 6!IT u L LO QJ 6ln iy Jt 
6lSl 6l..l rfl 8>856l.J LO. 

(a) Write the physiological effects of Cytokinins. 
OR 

(b) Draw and explain the structure of Marchantia Sporophyte. 

35. ( ~) @;Q> ~L@QJ)6ln!I)t61G?IT 6l..l6lna5856lnGIT GT@~~~a;rrL@L6bi- ·Gn16lJrfld>a;Gl.JLD. 

~6\)6\)~ 

( ~) 6l5)LOL...LrfWGro, t.6lwrrwGro G6Q) U@)LJ6lnU a6l..lWJU@~~a;. ( L06ln!I)Q:1)85 / a~ITQ:1)85 
Ga:ru u®u~) • • 

(~) Explain the different types of placentation with example. 
OR· 

(b) Differentiate Mitosjs from Meiosis. 

I A-I [ ~®LJ~a; / Tum over 
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,,,,, 8 

36. ( ~) DNA -GU16irr ~6mLOU6mU ~6Urf18>8i6l.jlp • 
. 

~6\)6\)~ 

( ~) $1~GTT8>8ilT6m6U.ilW~6N u11rJ£16m6U8i6mGTT 6f@§J8i. 

(a) Explain the structure of DNA. 
OR 

(b) Write the schematic representation ?f Glycolysis. 

37. ( ~) @@GU16m~~6m6U @~6U~6m LGTTGTTmLOLJ6mU ULLO 6U6mlJ"J5@ urra;L.D ®rfi1a;a;QJLb . 
. 

~6\)6\)~ 

( ~) c3 ~rr6UIJT6.18iGTT LO!r)IDJLD c4 ~rr6Ul)"ffi.18i~8;$16mLaUJUJrr61IT a6Uwurr(1)8i6mGTT 6T"@~8i. • 

(a) Draw and label the T.S. of dicot leaf. 
OR 

(b) Write the differences between _C3 plants and C4 plants. 

3s. (~) rf1.il6mw 8iLD~6011w LOQ)rr u6~fl--l8i6mGTT 6T"@~8i. ~a~®JLD ~® L06Urf16b"r L06Urr 

~6ml)"ULLD 6U6ml)"~~ ~~GITT LOQ)IT 6UITlLIUITL6mL 6f@~8i . 
. 

~6\)6\)~ 

( ~) (]QJ rf) GITT ~® LO rrrtJ JD~~ GITT 6U 6m8i8i6mGTT 6r{b) a;a; rrL(b) L6m 6U rf) 8>8i6l.J LO. 
(a) · Write the floral char~cters of Ricinus communis. Draw any one of t;he floral diagram 

and write its floral formula. 
OR 

(b) Explain the tap root modifications with examples. 

• -oOo-
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